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ENGLISH VERSION

Instructions : (1) Write answer of all questions in main answer
sheet.
(2) Figures to right side indicate marks of questions.

1 MCQ. 20
(1) Which crop is related to B.T. seed ?
(A) Groundnut (B) Wheat
(©) Gram (D) Cotton
(2) Wormi compost made from
(A) Bacteria B) Worm
(C) Dung (D) Vieruse
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Which type of seed produce every year ?

(A) Hybrid seed B) Certified seed

(C) Foundation seed (D) Research seed

Which type of seed has 99 to 100% genetical purity ?
(A) Foundation seed (B) Certified seed

(C) Hybrid seed (D) Research seed

Which irrigation method save the maximum water ?
(A) Drip (B) Sprinkler

() Rel D) Pot

Which fertilizer provides the maximum nitrogen to
crop ?

(A) Urea

(B) Ammonium sulphate

(C) Ammonium nitrate

(D) Potassium nitrate

How many main types of fertilizer ?

(A) Two (B) Three

(C) Four (D) Five

Which is the big irrigation project in Gujarat ?
(A) Narmada plan (B) Ukai plan

(C) Kakrapar plan (D) Bhader plan
Which is the most important grain crop of Gujarat ?
(A) Wheat (B) Bajara

(C) dJowar D) Rice

What is the main reason of decreases in size of farm
in India ?

(A) Hereditary method
B) Joint family system
(C) Development of Industry

(D) Increase in education
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(11) The agriculture is on which base in our country ?
(A) Centralization (B) Cooperation
(C) Decentralization (D) Nationalization

(12) Which type of unemployment shown in agriculture in

India ?
(A) Educational (B) Technological
(C) Cyclic (D) Disguised
(13) How many percentage of irrigation potential in 2010 in
India ?
A 30% B) 40%
©€) 50% D) 60%

(14) Who is author of “Economics of Water for Irrigation” ?
(A) Dr. Memoriya (B) Prof. Singh

(C) Prof. Laheri (D) Dr. Swaminathan

(15) How much lakh hectare meter of annual water supply
in India ?
A 1550 B) 1650
(©) 1750 D) 1850

(16) Which type demand of agricultural products generally ?
(A) Unstable (B) Stable
(C) Flexible (D) Irregular

(17) Which type of relation between agriculture and industry ?
(A) Supplementary (B) Competitor
(C) Flexible (D) Irregular

(18) In which state has highest irrigation facility in India ?
(A) Uttar Pradesh (B) Haryana
(C) Punjab D) Gujarat

(19) Which argument is in favour of mechanization of
agriculture ?

(A) Illiteracy of farmers
(B) Poor farmers
(C) Small size farms

(D) Less expenditure
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(20) According to one survey % of farmers possess
more than 25 acre of land.

A 20% B) 15%
©) 10% D) 5%
2  Explain the importance of fertilizer in agriculture. 10
OR
2 Explain remedial steps of problems of agriculture in 10
Gujarat.
3  Explain factors affecting on size of farm. 10
OR
3  Give the meaning and limitation of irrigation in India. 10
4  Explain the importance of Agriculture in Gujarat. 10
OR
4  Discuss the limitation of Agricultural Marketing. 10
5  Explain the scheme of Agriculture Finance of Gujarat 10
Government.
OR
5  Explain agricultural situation of Gujarat. 10
6  Discuss the importance of Land holding. 10
OR
6  Explain types of agricultural marketing. 10
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